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> d <- read.csv("dl.csv")

> head(d) e idl: 0OOO

id pOt f y {1?273a7100}
1 1 AC 6 e pot U: 0000 {A, B, C,
2 2 AC 3 o I}
3 3 ACH «f0:00: 000000 C,
4 4 AC 5 0g T
5 5 AC 0

eyD: 000 (DODODO)

6 6 AC 19
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GLM: 00000000 OooOoo

> summary(glm(y ~ f, data = d, family = poisson))

L@
Coefficients:
Estimate Std. Error z value Pr(>|z|)
(Intercept)  1.8931 0.0549 34.49 < 2e-16
fT -0.4115 0.0869 -4.73 2.2e-06
L@)...

e J00ODDODODO (f)DOODDOODODOOODDOOOY
e AICOOODDODODOOODDOODOOO
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GLMM: 0000000000000 0O0O0O

> library(glmmML)
> summary(glmmML(y ~ f, data = d, family = poisson,
+ cluster = id))
L@

coef se(coef) z Pr(>lzl)
(Intercept) 1.351  0.192 7.05 1.8e-12

T -0.737 0.280 -2.63 8.4e-03
L0,

e JODODOO?Y
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ooo0o0o0o0oOoOooOOoOoOoooon 000 + 00000000

000 +000000000000000 BUGS code (1)

model
{
for (i in 1:N.sample) {
Y[i] ~ dpois(lambdali])
log(lambdal[il) <- a + b * F[i] + r[i] + rp[Pot[il]
}
# 00000000000000000

e 0D00DDOODOO fie{c,T}0DOODOOOFIilJO 0, 10000
oo
e Pot[il O 1, 2, ..., 10000000000000000000O
oooooooo rpl...] ODOOOOO
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ooo0o0o0o0oOoOooOOoOoOoooon 000 + 00000000

000 4+ 000000000000000 BUGS code (2)

# 00000000000
a ~ dnorm(0, 1.0E-4) # OO
b ~ dnorm(0, 1.0E-4) # OO OO0
for (i in 1:N.sample) {
r[i] ~ dnorm(0, taul1]) # 0O0O0O
}
for (j in 1:N.pot) {
rp[j] ~ dnorm(0, taul2]) # ODOODO0O (UOODDO)
}
for (k in 1:N.tau) {
taulk] <- 1.0 / (sigmalk] * sigmal(k]) # 00000000000
sigmal[k] ~ dunif (0, 1.0E+4)

}
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00000 (DDDDDD b)DDDDD?

0.0 0.1 0.2 0.3 0.4 0.5

T T T T 1T T
0 200 400 600 800 1000 4 3 210
Iterations N'=1000 Bandwidth = 0.149

mean sd 2.5% 25% 50% 75%  97.5% Rh
a 1.501 0.529 0.482 1.157 1.493 1.852 2.565 1.0
b -1.016 0.706 -2.436 -1.476 -0.993 -0.565 0.395 1.0
sigmal[1] 1.020 0.114 0.822 0.939 1.014 1.089 1.265 1.0

L@
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BUGS O00: O0QO0O0O0O0O0OOoOO0OOOO

model { # BUGS 000000000 OOOOOOOOOO
for (i in 1:N.site) {
Y[i] ~ dpois(mean[il) # 0000000 0O0OOO
log(mean[i]) <- beta + re[i] # (DO OO0O) + (ODOO)
}
# 000 relil O CAR model O OO
re[1:N.site] ~ car.normal(Adj[], Weights[], Num[], tau)
beta ~ dnorm(0, 1.0E-2) # JO0000ooo0oooogo
tau ~ dgamma(1.0E-2, 1.0E-2) # tau 0O 0O0OOOOO

0o (D2
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